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1) The cost price of 16 notebooks is equal to the selling price of 12 notebooks. Find 

the gain percent. 

(A) 24%     (B) 33 ⅓% 

     (C)    16%     (D) 12% 

 

2)  The cost price of 21 pens is equal to the selling price of 20 pens. The loss or gain 

percent is 

(A)  20%     (B) 5% 

     (C)     10%     (D) 15% 

 

 

3)  If the cost of 12 Articles is equal to the selling price of 10 Articles, the profit 

percent in the transaction is 

(A)  18%     (B) 16 ⅔% 

     (C)     20%     (D) 25% 

 

4)  Cost of 3 pencils and 5 erasers is ₹ 34 and cost of 2 pencils and 7 erasers is ₹ 30  

then the cost of a pencil is 

 (A) ₹ 8      (B) ₹ 5 

 (C)   ₹ 4      (D) ₹ 2 
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5)  5 pencils and 4 erasers cost ₹ 13 whereas 9 pencils and 5 erasers cost ₹ 19 then the 

price of 6 pencils and 3 erasers is 

 (A) ₹ 9      (B) ₹ 12 

 (C)    ₹ 15      (D) ₹ 18 

 

6)  Three shirts and four pants cost Rs. 3,680. Two pants and one shirt cost Rs. 1,680. 

Find the costs of a shirt and a pant ? 

 (A) Rs. 320 and Rs. 680   (B) Rs. 300 and Rs. 600 

 (C)  Rs. 400 and Rs. 450   (D) Rs. 310 and Rs. 690 

 

7) A fruit seller bought 12 boxes of grapes at a price of Rs. 160 each. Two boxes was 

damaged. If he sold the remaining boxes at Rs. 200 each. Find the profit percent. 

 (A) 4.258      (B) 4.33 

 (C)  4.167      (D) 4.52 

 

8) A fruit seller bought 8 boxes of grapes at a price of Rs. 150 each. One box was 

damaged. If he sold the remaining boxes at Rs. 190 each. Find the profit/loss percent. 

 (A) Profit 130%    (B) Profit 10.83% 

 (C)  Loss 130%     (D) Loss 10.83% 

 

9)  A fruit seller bought 10 boxes of grapes at Rs. 210 each. One box was damaged. He 

sold the remaining boxes at Rs. 250 each. Find the profit/loss percent. 

 (A) 7.14% loss     (B) 10.14% loss  
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 (C)  7.14% profit    (D) 10.14% profit  

 

10)  A man buys 10 articles for Rs. 8 and sells them at the rate of Rs. 1.25 per article. 

His gain is 

 (A) 20%     (B) 50% 

 (C)  19 ½%    (D) 56 ¼% 

 

11) An almirah is sold at Rs. 5,225 after allowing a discount of 5%. Find its marked 

price. 

 (A) Rs. 5,000    (B) Rs. 5,500 

 (C)  Rs. 6,500    (D) Rs. 5,575 

 

12) A man bought an old bicycle for Rs. 1,500. He spends Rs. 500 on its repair and 

sells it for Rs. 1,800. Find the percentage of his loss. 

 (A) 10%     (B) 15% 

 (C)  20%     (D) 5% 

 

13) A refrigerator is purchased for Rs. 14,355, including sales tax. If the actual cost 

price of the refrigerator is Rs. 13,050, find the rate of sales tax. 

 (A) 11%     (B) 8% 

 (C)  9%     (D) 10% 
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14) Ram sold a watch at ₹ 405 and earned a profit of 20%. What was his cost price? 

 (A) ₹ 337.50    (B) ₹ 87.50  

 (C)  ₹ 237.50    (D) ₹ 237 

 

15) Sasi purchased a house for ₹ 27,75,000 and spent ₹ 2,25,000 on its interior 

decoration. He sold the house to make a profit of 40%. What is the selling price of the 

house? 

 (A) ₹ 31,20,000    (B) ₹ 36,00,000 

 (C)  ₹ 42,00,000    (D) ₹ 48,00,000 

 

16) A man had Rs. 75 lakhs with him. He spent 48 lakhs and 85 thousands to buy a 

building. How much money is left with him? 

 (A) 40 lakhs    (B) 26 lakhs 15 thousand 

 (C)  20 lakhs 25 thousand  (D) 33 lakhs 

 

17) If P% of P is 36. Then find P. 

 (A) 15     (B) 60 

 (C)  600     (D) 3600 

 

18) If n% of n is 64. Then n is equal to  

 (A) 6400     (B) 640 

 (C)  80     (D) 160 
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19) A man invested ⅓ of his capital at 7%,  ¼ at 8% and the remaining at 10%. If his 

annual income is Rs. 561, the capital is 

 (A) Rs. 5,400    (B) Rs. 6,000 

 (C)  Rs. 6,600    (D) Rs. 7,200 

 

20) Shyam’s monthly income is Rs. 12,000. He saves Rs. 1200. Find the percent of his 

savings and his expenditure. 

 (A) 10%, 80%    (B) 10%, 90% 

 (C)  80%, 10%    (D) 90%, 10% 

 

21) After spending 40% on machinery, 25% on building, 15% on raw material and 5% 

on furniture, a small scale industry owner had a balance of Rs. 1,30,500. Total money 

with him(in rupees) was 

 (A) 7,39,500    (B) 8,70,000 

 (C)  7,56,900    (D) 7,22,500 

 

22) If 30% of (B-A) is equal to 18% of (A+B) then the ratio A : B is equal to 

 (A) 1 : 4     (B) 4 : 1 

 (C)  1 : 2     (D) 2 : 1  

 

23) 30% of x is equal to 60% of y then x : y is 

 (A) 1 : 2     (B) 2 : 1 

 (C)  30 : 60    (D) 3 : 6 
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24) If 10% of x is equal to 20% of y then find  x : y  

 (A) 3 : 2     (B) 1 : 2 

 (C)  2 : 1     (D) 3 : 1 

 

25) A city's population increases by 5 percent per year while it decreases by 1 percent 

per year due to immigration. Percentage of population growth in three years 

 (A) 10%     (B) 11.5% 

 (C) 12.00%    (D) 12.47% 

 

26) The value of a machine decreases by 5% every year. If the purchase price is Rs. 

60,000, after three years the value of the machine is  

 (A) Rs. 51,442    (B) Rs. 65,144.25 

 (C)  Rs. 5,144.25   (D) Rs. 6,514.43 

 

27) A student multiplied a number by ⅗ instead of 5/3. What is the percentage of error 

in the calculation? 

 (A) 34%     (B) 44% 

 (C)  54%     (D) 64% 

 

28) The population of a town increased from 1,75,000 to 2,62,500 in a decade. The 

average percent increase of population per year is 

 (A) 4.37%    (B) 5% 

 (C)  6%     (D) 8.75% 
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29) In 1998, the production of tea is 1584 million kgs. Which is 20% more than that in 

1991. Find the production of tea in 1991. 

 (A) 1270 m.kgs.   (B) 1320 m.kgs. 

 (C)  1410 m.kgs.   (D) 1520 m.kgs. 

 

30) The value of 25% of 1200 is  

 (A) 300     (B) 900 

 (C)  1000     (D) 600 

 

31) 15% of the total number of biscuits in a bottle is 30. The total number of biscuits is 

 (A) 100     (B) 150 

 (C)  200     (D) 300 

 

32) 33 ⅓% of 50% of 300 is 

 (A) 50     (B) 100 

 (C)  150     (D) 300 

 

33) If 20% of pure acid is in 8 litres of a solution, how many litres of pure acid is in 

that solution? 

 (A) 1.4     (B) 1.5 

 (C)  1.6     (D) 2.4 
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34) Find the total amount, if 12% of it is ₹ 1080 

 (A) 28,000 Rs.     (B) 9,000 Rs. 

 (C)  18,000 Rs     (D) 10,800 Rs. 

 

35) If 12% of an amount is ₹ 1080, then the amount is 

 (A) ₹ 9000     (B) ₹ 8000 

 (C)  ₹ 7000     (D) ₹ 6000 

 

36) What is 95% of 4598? 

 (A) 4800      (B) 4840 

 (C)  4850      (D) 4880 

 

37) If y% of x is 50 and z% of y is 25, then the relation between x and z 

 (A) x=2z      (B) z=2x 

 (C)  x=4z      (D) z=4x 

 

38) 5 out of 2250 parts of earth is sulphur. What is the percentage of sulphur in earth? 

 (A) 11/50      (B) 2/9 

 (C)  1/45      (D) 2/45 

 

39) If 60% of ⅗th of a number is 36, then find the number 

 (A) 80      (B) 100 

 (C)  75      (D) 90 
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40) What percent of 2/7 is 1/35? 

 (A) 25%      (B) 2.5% 

 (C)  10%      (D) 1000% 

 

41)What percent of 60 is 72? 

 (A) 80%      (B) 120% 

 (C)  84%      (D) 65% 

 

42) The number which exceeds 16% of it by 42 is 

 (A) 50      (B) 52 

 (C)  58      (D) 60 

 

43) The population of a town is 1,76,400. It increases annually at the rate of 5% per 

annum. What will be its population after 2 years? 

 (A) 1,94,781     (B) 1,94,681 

 (C)  1,94,581     (D) 1,94,481 

 

44) In 2013, the population of a city is 1,25,000. After one year population increased 

by 7%. Then find out the population in 2014?  

 (A) 8,750      (B) 1,33,750 

 (C)  1,16,250     (D) 1,25,000 

 

http://www.mntfreeias.com/


 

  

45) 280 candidates appeared for an examination of which 252 passed. The failed 

percentage is. 

 (A) 8%      (B) 6% 

 (C)  10%      (D) 12% 

 

46) 30% apples out of 450 are rotten. How many apples are in good condition? 

 (A) 310      (B) 315 

 (C)  320      (D) 325 

 

47) The value of a machine depreciates by 10% each year. A man pays Rs. 50,000 for 

the machine. Find its value after three years 

 (A) Rs. 35,650     (B) Rs. 36,450 

 (C)  Rs. 35,450     (D) Rs. 37,450 

 

48) The population of a city was 2,25,000 at 2018. If it will be increases at the rate of 

12% next year. What will be the population of 2019? 

 (A) 2,52,000      (B) 2,50,000 

 (C)  2,47,000      (D) 2,52,500 

 

49) In 2010, the population of a town is 1,50,000. If it increased by 10% in the next 

year. Find the population in 2011. 

 (A) 2,00,000      (B) 1,80,000 

 (C)  1,65,000      (D) 1,75,000 
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50) If x% of y is 100 and y% of z is 200, then the relation between x and z is 

 (A) z=x/2       (B) z=2x 

 (C)  z=x/4       (D) z=4x 
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